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1 (a) Write in numerals

One million, sixty thousand, four hundred and five.

ARSWET (@) ..o [1]
(b) Work out 12 + 48 + 6

ARSWET (D) ..o [1]

2 Round off

(a) 47268.39 to the nearest 10,

ARSWET (@) ..o [1]
(b) 3852 to the nearest 20.

ARSWET (D) ..o [1]

3 Simo woke up at 10.25pm.
He stayed awake for 2 hours 35 minutes and then went back to sleep.

At what time did Simo go back to sleep? Give your answer in 24-hour clock time.

ANSWEF ..o, [2]
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4 A survey was carried out to establish the highest education level among 100 people.
The lowest education level was SPC.

The following record was made.

Educational level SPC JC SGCSE DIPLOMA DEGREE

Number of people 13 20 25 d 18

(a) Work out the value of d, the number of Diploma holders.

ARSWET (@) ..o [1]

(b) Use the information above to complete the bar chart below.
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Number of 16

people 14
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SPC JC SGCSE DIPLOMA DEGREE
Educational level

[3]
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5 Giventhatp = and q =
b ( 2 ) ! (—4)
Work out.
(@ 2p+tgq
Answer (a) ( ] [2]
b)) q-p
Answer (b) ( j [1]
6  The table below shows the cost of petrol in Swaziland in March 2016.
Number of
litres of petrol 2 3 73 Y
Costin 22.60 33.90 X 124.30
Emalangeni
Find the values of x and y
ANSWEF X = oo [1]
VT e [2]
© ECESWA 2019
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7 (a) (i) Name the solid represented below.
ANSWEF (A)(1) +eeeveeenieee ettt ettt ettt ettt ettt e he et ent et e e nnae s [1]
(ii) State the number of edges on the solid.
ANSWer (@)(A1) ..oovvieeiiiiiiiecie et [1]
(b) The diagram shows quadrilateral KLMN.
K L
N M
On the diagram, using a straight edge and a pair of compasses, construct the
(i) perpendicular bisector of line KL, [2]
(i) bisector of angle KNM. [2]
(¢) On the diagram in (b), label the point of intersection of the two loci as X. [1]
[Turn over
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8 (a) Find the value of (23)
ARSWET (@) oo [1]
(b) Work out 2.8
0.014
ANSWEF (D) ..o (2]
9 (a) You are given the following flow diagram for a mapping.
x divide by 2 add3 [——>— 1)
Write the mapping in the form f(x) = ............
Answer (@) T(x) = ..oooiiiiiiie [1]
X
(b) gx) = 5 + 7.
Find g~ (x).
Answer (b) 7 N0) oo, [3]
10 In aclass there are 32 boys and 24 girls.
Express the ratio of boys to girls in its simplest form.
ANSWEF .o s e [2]
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11  Write these fractions in order of size, starting with the largest.

For
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1 S 3 7 2
2’ 6’ 5 30° 3
Answer .......... D D e S e S e [2]
largest
12 Thoko recorded the number of eggs her hens had laid.
She found the following number of eggs in each nest.
12 9 12 15 10 14 12
Calculate the mean number of eggs per nest.
ARSWEF ..o [2]
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13 The diagram shows the graph of y = —3x.

V'

2 4

—3x

<
]

(a) On the same grid, draw and label the graph of y — x =4 for — S <=x < 1. (2]

(b) Hence, solve the simultaneous equations.

ARSWEF X = oo
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14 A trader bought a box of weaves for E7200.
In the box there were 120 packets of weaves.

(a) Calculate the cost of each packet of weaves.

Answer (@) E oo [2]
(b) The trader sold each packet of weaves for E110.

Calculate the percentage profit made on each packet.

ANSWEF (D) .o % [3]

15 Senzo bought 15 apples.
Musa bought p fewer apples than Senzo.

(a) Write an expression for the total number of apples bought by the two boys.

ARSWET (@) oot [2]
(b) The total number of apples bought was 25.

Find the value of p.

ARSWET (D) ..ot [1]
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16 (a) You are given that Port M is due West of Port N.

Write down the bearing of Port N from Port M.

ARSWET (@) oo °[1]
(b) The diagram shows two ports R and 7.

Port 7'is on a bearing of 050° from Port R.

North
T NOT TO SCALE
North
A
T
50°
R
Calculate the bearing of Port R from Port 7.
ANSWEF (D) .o °12]
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17 (a) You are given the function f(x) = —2ux.

Find the range for the function given the domain

{—1,1,3,5}.
ARSWEF (@) .ot [2]
(b) Factorise the expression:
x> —x—56
ANSWET (D) ..o [2]

18 The parallelogram PQORS is drawn on the grid below.

4y

ya
U

G

N

U9

N

[y

W

N

(a) Reflect PORS in the line x = 0.
Draw and label the image P,Q,R,S,.
(b) Rotate PORS about (0, 0) through 180°.

Draw and label the image P,0Q,R,S,.

2 4
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